
 
 
 
 
 
 

Towbar Fitting Instructions 
To Suit Toyota Rav 4 7/00- 6/02 

Part Number TT127 
Rating 1500Kg  

 Page 1 of 1 Issue Date 23-08-04. 
 

  THE WORKHORSE OF AUSTRALIA’S TOWBARS 

 
 

1. Remove the tie down hooks from the vehicle and discard along with the bolts  
2. Offer towbar to vehicle and secure using bolts and spring washers supplied. (Items 1 & 2). 
3. Tighten all bolts to correct torque settings as listed below. 
4. Refer to diagram for correct positioning of lug, (lug to be facing downwards). 
5. Attach the tongue ( item 5 ) to the towbar using ( items 3 & 4 ). Torque the bolts to the correct setting. 

 
 
 
 
 

COMPONENT KIT 

ITEM No. DESCRIPTION QTY TORQUE Nm 

1 M12 x 30 1.25p bolt 4 77 
2 M12 Spring Washer 4  
3 5/8” x 13/4” UNC bolt  2* 249 
4 5/8” Spring Washer 2*  
5 Tongue (PTT127)  1  

Note: * One of each item 3 and 4 is used to secure the tongue to the towbar during transit. 

 

 


